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Simplifying Expressions
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CHAPTER 8

Exercise 8C

Simplify these expressions by collecting like terms.
a 3x+ux b y+2y

Simplify these expressions by collecting like terms.

a 2a+4a b 5b+2b
c c+3c d 7d+d
e 6m—4m f 3y—4y

Write down which two of these four expressions cannot be simplified.
a ptptgq b 2p+gq
c pt2q d p+tqg+gq

m|

Write down which of these four expressions cannot be simplified.
a 2x+3x—4 b 3x+4y—2x
c 4x—3+2y d 2x+4y-3

Simplify these expressions by collecting like terms.

a 2p+3p+5-1 b 3+7b+2+2b

c 2c+1+4c—2 d 3d-6+7d+3
e 4—2m+4m+1 f 3y—-2y+3—-y+5

Simplify
a 3x+x+4y+2y 6x —x+ 5y —2y
C 4x+5x—3x+2y _ X+2x+5x—4x+ 7y —2y -
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6 Simplify
a 3x+x+4y+2y 6x —x+ 5y —2y
4x+5x —3x + 2y X+ 2x+5x—4x+ 7y — 2
5x+3y—y+2x X+ 6y+4x—2y—3x
4p +2q—3p—3q 8m—n—n+2m
2w+ v = 3w+ 4y + 2w j 3c+2d—5d+c+4d—2c
Se+3f—2+5f—e+1 4s =3t —T7s+ 2t

8.4 Multiplying with numbers and letters

The simplest way to write 4 X 7 is 4n.

In the same way the simplest way to write @ X b is ab, leaving out the multiplication sign
as before.

So mn is the same as m X n.

The simplest way to write a X a is a2
a?is read as ‘a squared’.
Do not write a X a as aa.

The simplest way to write a X b X cis abc.
The simplest way to write a X a X ais a>.
a?is read as'a cubed'.
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Exercise 8D
1 Write these expressions in the simplest way.

a rxs b xXyXz

d 12XsXtXu e 6xXyXz

g WXwXw h 3XxXx i
2 Simplify

a 3x2b b 3xx2 c SpXx

e 3aX5b f 6yX4x g 3X2pX2q

i 2aX3a j 3cx2dX5e k 2aX3bXd4c

m 2a X 4b X 3a n 2efX3e

Work out the value of each of these expressions when x = 10
a x? b

c mXm
f ax24xXbXc
axX4XaxXa

d xXd4q
h 4mXx2px2
L 5aXaxXd4a

CHAPTER 8
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Work out the value of each of these expressionswhena =2,b=3andc =1

a abc b 4ab+c

¢ 5bc—ac

Work out the value of each of these expressions whenp =2,g=3andr=5

a pg b 4rp? —10¢4?
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Exercise 8C
1Ta 4x
2 a 6a

b 7b

b 3y

c 4 d8d

Comment

c 4p
ez2m f —y

3 2p + qand p + 2q cannot be simplified
4 4x — 3+ 2y and 2x + 4y — 3 cannot be simplified

5a55p+4
d 10d -3

6 a 4x+6y
d 4x+ 5y
g8r—4
j 2c+d

Exercise 8D

Tars b
f 24abc g
2a b
f g
k L
3a
4a
5a

Exercise 8E

1la2n+2
e 2n—2

b 9 +5
2m+5
S5x+ 3y
7x+ 2y
10m — 2n
de+8f—1

c m?

h 3x?
c 5px
h 16mp
m 24a?b
1000

25

—10

b 3a+6 c 4p

c 6c—1
f8

c 6x+2y
f 2x+4y
i wt+5y
L —3s—1

d 12stu
i 4a®
d 4xq
i 6a? j
n 6¢%f

c 200

c 13

c —19

e 6xyz

e 15ab
30cde

+12 d 4+2n
—8 h 6—2n

Share

f 3a—12

g 4p





